EFREXGSEREGAODR NEAEREEHET)
Fr2655831BIRTE
iy £ O 8 = Hi
A#MET—TH 215 225 213 438
BHETZTH 371 396 424 820
A#MET=TH 568 562 723 1,285
AHETUTB 422 399 494 893
BSHET 371 410 482 892
REFIET—T B 372 376 434 810
REABETZ=TH 472 460 515 975
RRAET=TH 658 566 664 1,230
EFET—THB 311 324 339 663
FFET=THB 271 277 299 576
EEET—TB 417 383 462 845
fBET—TH 480 439 521 960
EFSEE—TH 370 365 447 812
EERT=TH 322 306 346 652
EEE—TH 175 173 186 359
EEEZTH 332 324 371 695
HFEEI=TH 444 475 537 1,012
EEEET B 399 419 462 881
BEET—TH 303 294 317 611
BEET=TH 492 440 538 978
BEET=TH 470 533 603 1,136
AEETET B 656 711 800 1,511
WEET—TH 328 325 337 662
WERETZTH 230 214 209 423
HWEET=TH 383 344 325 669
WEATMT B 426 388 476 864
WEETETH 537 479 584 1,063
KFHET—TBE 122 110 121 231
AXFEHZTH 369 341 386 727
KFET=TH 192 174 195 369
HIEET—TH 357 341 367 708
MEET-TH 404 414 474 888
FHREE—TH 164 140 178 318
FHREEZTH 209 176 207 383
FHKEE=TH 207 173 202 375
FHRE/TUTHB 103 88 89 177
FRERETH 120 91 106 197
AET—TH 338 314 363 677
AET—TH 137 131 148 279
ABET=TH 245 229 236 465
FET—TH 532 518 608 1,126
KET—TH 733 643 702 1,345
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i) £ O 8 = Hi
=AET—TH 356 319 343 662
=AET=TH 307 268 267 535
ZHHET—TH 329 338 390 728
ZHET=TH 246 267 277 544
ZFRET=TH 551 559 628 1,187
ZAETMTH 487 467 524 991
XEET—TH 779 870 966 1,836
XIRETZTH 504 556 585 1,141
7N ET 2,417 2,844 2,982 5,826
NEET—TB 277 311 344 655
FNEETMT B 57 58 66 124
X JII&#T 740 794 873 1,667
XRET—TH 810 881 937 1,818
XEETZTHE 643 745 813 1,558
XRET=TH 715 853 906 1,759
XRETET B 450 471 543 1,014
MAET—TH 660 670 606 1,276
EET—TH 893 962 1,005 1,967
HET=TH 972 947 998 1,945
FEETmT B 508 493 542 1,035
#RHS L ET 367 430 492 922
FARTERN) 28,095 28,593 31,577 60,170
i BET 695 785 859 1,644
1 S ET 188 228 241 469
EEHT 458 603 564 1,167
FERT—TH 413 437 437 874
FERT=TH 426 415 522 937
BHERT=TH 653 727 734 1,461
SHERTMNTH 354 431 421 852
1% FRET 369 477 502 979
T BET 195 285 307 592
= HhET 174 229 208 437
izl 704 995 997 1,992
e 283 337 339 676
ILERT—TH 1,004 1,178 1,157 2,335
IWFRT=TH 526 616 662 1,278
R PN ET 272 433 416 849
BREHT 549 779 820 1,599
[L3EET—THB 912 939 1,056 1,995
[LEEET=TH 1,596 1,592 1,865 3,457
[LEET=TH 1,364 1,268 1,540 2,808
T (ENIR#X) 11,135 12,754 13,647 26,401
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/N HHET 302 389 392 781
T HT 193 291 283 574
& BHT 541 738 802 1,540
ESJCRRET 297 372 387 759
FYEHT 551 911 939 1,850
T FAT R ET 121 163 195 358
JIALET 253 328 350 678
{8 FLHT 57 84 79 163
B ALET 109 137 146 283
TJIET 777 893 932 1,825
(IRt E) 3,201 4,306 4,505 8,811
R R BT 361 483 528 1,011
/Nt BRET 199 281 275 556
i BT 230 287 299 586
FHET 394 486 521 1,007
5 ERET 611 794 873 1,667
INSRF-BT 660 906 924 1,830
FEHT 311 419 421 840
S HET 209 207 232 439
=iEE—TH 314 354 380 734
BIEEZTH 610 677 730 1,407
FTCREHRX) 3,899 4,894 5,183 10,077
={ZET—TH 730 773 837 1,610
={&ET=TH 539 564 624 1,188
={RET=TH 672 718 796 1,514
SEIZAT 573 631 620 1,251
L hET 288 408 398 806
TR ET 505 557 599 1,156
A EE—TH 406 478 481 959
ARBEE_TH 934 932 1,070 2,002
ARBEE=TH 517 599 543 1,142
ARBEETmTH 501 532 470 1,002
AREETRETH 558 594 598 1,192
R EHE 677 857 880 1,737
L SRET 1,910 2,350 2,448 4,798
A REHET 98 124 133 257
B RET 666 714 843 1,557
$i ERT 468 600 624 1,224
¥E 2 THT 328 408 455 863
1R ET 617 890 956 1,846
ST RHET 1,216 1,376 1,451 2,827
FT(EEHX) 12,203 14,105 14,826 28,931
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5 HET 2,254 2,788 2,951 5,739
1% ZRHET 245 326 343 669
HiFS EHET 592 731 694 1,425
AIFEEAT=T B 167 223 247 470
JIEhET 899 1,004 1,035 2,039
FE 1T R ET 554 656 733 1,389
T $7HET 1,472 1,813 1,950 3,763
L FrEHET 1,405 1,669 1,733 3,402
INE AT 991 1,091 1,024 2,115
INBARET—TH 149 146 173 319
=il 567 550 523 1,073
e —TB 664 668 684 1,352
JLHHET 947 1,116 1,105 2,221
EIRASEHT 113 131 130 261
St hS BT 335 369 369 738
AFIRET—TH 651 702 801 1,503
AFIRETZTH 587 643 730 1,373
HTRIASHT 352 313 345 658
BHEMT 211 271 289 560
FH(EH#EX) 13,155 15,210 15,859 31,069
JTHARLET 3,368 3,702 3,668 7,370
THtET—T B 417 464 509 973
MBI =TH 487 486 524 1,010
TTHRMHET=TH 53 61 63 124
ARET—TBH 214 215 208 423
ARBETZTH 599 619 608 1,227
ARET=TH 324 345 345 690
KEB—TBHE 279 272 291 563
KEBTZTH 2 1 1 2
AEHT 35 31 41 72
AEE—TH 170 185 197 382
GREIZTEHE 182 168 200 368
AEEI=TH 151 156 150 306
ARETUTE 223 234 227 461
AEEETRATH 247 232 303 535
5 IET 618 666 476 1,142
THEEHE 417 423 444 867
FEET—TH 62 39 49 88
MEET=TH 285 233 242 475
T (ofettihX) 8,133 8,532 8,546 17,078
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Rt BT#R%E 2,024 2,325 2,317 4,642
HettET—TB 25 24 23 47
WHETZTH 333 338 321 659
HHET=TB 246 271 282 553
BHETET B 143 176 163 339
et BT HE B 1,370 1,642 1,718 3,360
RHETEH 332 348 374 722
=HET—TH 513 589 583 1,172
BB A R 385 486 493 979
BT (st X) 5,371 6,199 6,274 12,473
BT 1,066 1,336 1,376 2,712
THAFH-ET 1,751 2,139 2,236 4,375
At X B ET 1,301 1,496 1,627 3,123
T/INHET—THB 442 432 459 891
T/INHETZTH 978 939 917 1,856
T/INHET=THB 448 425 448 873
E/NHET—TH 568 636 632 1,268
F/INHETZTH 670 656 712 1,368
E/INHET=TH 684 725 744 1,469
BERK<FET 748 844 826 1,670
HHET 2,046 2,385 2,453 4,838
ik gl 881 881 989 1,870
mHET—TH 563 655 694 1,349
FRET=TH 620 692 691 1,383
RHET=TH 210 231 241 472
FRRETET B 178 207 191 398
A & <F AT 209 250 279 529
JI| S ET 41 57 57 114
z:fm]:is) 882 1,036 1,125 2,161
RE4RET 257 268 283 551
FE4RET—T B 187 241 258 499
BEiRET—TH 422 532 533 1,065
BEEET=THB 510 557 554 1,111
JII R BT 128 123 150 273
JNRET—TB 474 566 625 1,191
NEBET=THE 368 464 489 953
P AR HT 754 682 949 1,631
it (Pt X) 17,386 19,455 20,538 39,993
i BT 229 319 327 646
L+ EEFHET 172 246 245 491
HFEFHET 801 980 1,082 2,062
B EPHT 200 241 256 497
FTCERHX) 1,402 1,786 1,910 3,696
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XK SHT 1,184 1,314 1,321 2,635
RINKESE—TH 465 484 541 1,025
XINKSHTZTH 413 435 476 911
KINKSET=TH 822 864 866 1,730
L+ XREHET 731 948 992 1,940
= EHT 199 262 268 530
L+ RBLET 256 306 331 637
B EPHET 121 140 143 283
o deslii) 432 547 546 1,093
T RBLHET 214 308 305 613
/B R ET 143 200 195 395
b 2,906 3,459 3,585 7,044
TREBET 1,236 1,468 1,561 3,029
T GKEAHRX) 9,122 10,735 11,130 21,865
T REET 211 295 296 591
SRIRET 288 417 392 809
= HHET 687 982 972 1,954
FTOHT 359 505 518 1,023
SiFHET 504 720 743 1,463
75 K =HT 514 681 689 1,370
K=Y 255 332 328 660
B+ FHET 255 370 360 730
FHHHET 96 137 142 279
ZZ = 1,006 1,400 1,371 2,771
S FHET 246 370 337 707
HFHET 382 543 548 1,091
INERET 611 796 803 1,599
Nabii)) 545 628 664 1,292
TS HET 334 449 462 911
EENRET 559 744 769 1,513
T (EmHX) 6,852 9,369 9,394 18,763
K EAHET 655 732 842 1,574
R KHT 1,408 1,848 1,836 3,684
YRR ET 1,509 2,008 2,019 4,027
&R ET 453 649 606 1,255
FETEHT 542 779 800 1,579
HEALET 171 191 225 416
s [ BT 524 714 749 1,463
Rl s HT 1,166 1,499 1,633 3,132
L XREHT 424 564 521 1,085
FH(RHHEX) 6,852 8,984 9,231 18,215
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SERMET 901 1,320 1,371 2,691
HHEHT 588 794 834 1,628
i 2 B HET 239 361 354 715
=RRHET 101 116 116 232
my SHT 368 561 597 1,158
B 5T 164 263 249 512
KATHET 483 676 690 1,366
FH(EEHX) 2,844 4,091 4,211 8,302
FAJNET R 2R 105 108 108 216
FAINETER 187 267 269 536
FaJIET A | 406 564 598 1,162
FHIETREER 137 200 188 388
HET#T E 409 567 572 1,139
FNETAR R 632 844 828 1,672
FHBTRE 578 866 866 1,732
BT 233 711 1,053 1,028 2,081
F)IETFEEE 190 230 262 492
FIETRIE R 53 71 76 147
)BT LR BT 55 90 93 183
)BT FRET 43 72 75 147
fNBET—BH 33 64 51 115
)BT R 140 200 195 395
8 BT RS 291 410 392 802
STCRNIHRER) 3,970 5,606 5,601 11,207
EXTRETHS 335 439 442 881
ELTRET5IH 88 121 107 228
ETRETEE 293 448 457 905
E 1T RET[RZH 1,435 1,969 1,922 3,891
ET RET/NR 391 519 550 1,069
=1 RETKEF 332 514 549 1,063
=+ RETEFR 1,905 2,709 2,660 5,369
ETREI/NE 1,708 2,368 2,390 4,758
ELRETAH 953 1,368 1,368 2,736
ELT RETRE 111 169 170 339
ETRETHZ KRG 86 129 127 256
ELRETLAO 79 107 111 218
ETRETEIR 200 305 296 601
=1 RETFREL 316 369 361 730
FHETRBX) 8,232 11,534 11,510 23,044
& it 141,852 166,153 173,942 340,095




